Calcular Porcientos (D)

Calcule el porciento o valor que se pide.

- ¢Qué porciento de $3,137.00 es
$2,760.56?

- ¢Qué porciento de $5,785.00 es
$4,917.25?

. .Qué porciento de $29.00 es
$2.61?

- ¢Qué porciento de $6,986.00 es
$1,816.36?

- ;Qué porciento de $6,062.00 es
$5,455.80?

10.

. ¢Qué porciento de $7,332.00 es

$3,592.687

;Qué porciento de $4,849.00 es
$4,461.08?

- ¢Qué porciento de $8,289.00 es

$1,160.467

. Qué porciento de $3,850.00 es
$1,655.50?

;Qué porciento de $8,191.00 es
$819.107?

MatesLibres.Com




Calcular Porcientos (D) Respuestas

Calcule el porciento o valor que se pide.

- ¢Qué porciento de $3,137.00 es
$2,760.56?
88%

- ¢Qué porciento de $5,785.00 es
$4,917.25?
85%

. .Qué porciento de $29.00 es
$2.61?
9%

- ¢Qué porciento de $6,986.00 es
$1,816.36?
26%

- ;Qué porciento de $6,062.00 es
$5,455.80?
90%

10.

. ¢Qué porciento de $7,332.00 es

$3,592.687
49%

;Qué porciento de $4,849.00 es
$4,461.08?
92%

- ¢Qué porciento de $8,289.00 es

$1,160.467
14%

. Qué porciento de $3,850.00 es
$1,655.50?
43%

;Qué porciento de $8,191.00 es
$819.107?
10%
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